EDEXCEL CORE MATHEMATICS C2 (6664)

MOCK PAPER MARK SCHEME

?]ld?nstt)lgrr] Scheme Marks
1. (a)|f(1)=0, 2-1+p+6=0 sp=-7 M1 Al 2)
(b) | f-D=-§-%+3+6=9 MLAL  (2)
(4 marks)
3 2 s 2
2 (a) (3+4x —?)dx=3x+x +;+c M1 A2(1, 0)
3)
2 2 2 2
(b) j (3+4x3——2)dx:[3x+x4+—}
1 X X1l
=6+16+1)-(3+1+2) M1
=17 Al 2
(5 marks)
3. (@ |ArcBD=r6# =04x6=2.4 Bl (1)
(b) | Cosine Rule: AB>=6°+ 12 - 2x 6x 12x cos (0.8) = 47.36... M1 Al
AB=16.88...... Al 3
(c) | Perimeter =6 + 6.88 + 2.4 = 15.3 (c(B)sig. figs) B1ft (2)
(5 marks)
4. logzx? — logs (X — 2) = 2 Use oklogule | M1
X2
Iog3[ Zj =2 Use ofdeglogb rule | M1
X_
X2
=3 Getting out of| Ibtis
X—-2
x>-9x+18=0 Correct 3T( Al
x-6)k—-3)=0 Attempt to solve| M1
X = 3,6 Both | Al
(6 marks)




EDEXCEL CORE MATHEMATICS C2 (6664)

MOCK PAPER MARK SCHEME

Question Scheme Marks
number
5 @18 1 M1
Dividing gives (31125 1 M1
9 8
Sor=1 Al (3)
(b) | Usingar =9 ,a= % =18 M1, Al )
2
©) | S.= i=1—1 = 36 MLAL  (2)
-r 1-35
(7 marks)
6. (@) |(x=3P+(y+2¢(=9+4+12) Attempt to complete square, M1
.. Centre is at (35 2) Al (2)
(0) | (..)2+(..)’=12+4+9=25=% ft their centre] M1
.. Radius =5 Al (2)
(c) | PQ= 10 mean®Q is adiameter and so angRRQ is 90° M1
Pythagoras’ Theorem give&R? = 1¢ — 3> =91 M1
So QR=9.54...=95(1d.p.) Al 3
(7 marks)
7. () n(;_l) k2= n(n—2|(n—2) k3 Onecoefficient (no(:‘]) M1
A correct equation, no cancdlling
e.g. ¥=(n-2k3 Cancel at least (n—1) | M1
3 = -2k *) Al cso 4)
(b) | A=nk=4 B1
3=4-R M1
So k=3 ,andn=38 Al,Al (4
(8 marks)




EDEXCEL CORE MATHEMATICS C2 (6664)

MOCK PAPER MARK SCHEME

Question Scheme Marks
number
8 (a) | x-200=115.9... Any solution (awrt 106 244) | B1
Or 244.08... 36@andidate’s first answeg M1
+ 20 at correct stag( M1
x= 136, 264 Al (4)
(b) 3ﬁ = 2 cosd Use of tand = siné M1
cosy cosy
3sin@=2cos 9= 2(1- sirtH) Use of é6s 1-sir? 6 | M1
2sirf @+ 3sind-2=0 3 term quadratic in sin Al
(2singd-1)(sinéd+2)=0 Attempt to s| M1
sing=-2 (No solution) At least L Al
sing= ?
So 6= 30, 150 Both | Al (6)
(10 marks)
9. (a) | Surface Area =2h + ar? B1
- 2
h= 250-7r” Attempth= | M1
2wy
.2
V:m2h=m2xM V =and sub foh | M1
2rr
zr3
V=125 - — *) Alcs.o. (4)
dv 3z 2
b) | —=125-——r M1
(b) dr 2
dv 2 250 /250
—=0=>r“=——sor= |— =5.15...
dr 3z 3z M1AL 3)
d?v
() | —=-3nr M1
dr?
Whenr =5.15... this is < 0, therefore a memum Al (2)
3
(d) | MaxVis 125(5.15.) % ©15)" M1
i.e. Maximum volume is 429.19...= 429 (&m Al (2)

(11 marks)




EDEXCEL CORE MATHEMATICS C2 (6664)

MOCK PAPER MARK SCHEME

Question Scheme Marks
number
2
10. (@) |Yy=9-8-—+==0.b=4 (* Blcs.o. (1
@ Y N (*) (
dy -3
by | —=-2+Xx2? M1
®) |
Whenx = 1 gradient =2 + 1 =-1 Al
So equation of the tangent iy —5 =—1 (x— 1) M1
le. y+Xx=6 *) Alc.s.o. (4)
(c) | Lety=0andx=6 saD is (6, 0) Bl ()
(d) | Area of triangle =4 x5x5=125 B1
4 1 4
j (9-2x—2x2) dx= 9x—x2—2XT Ignore limits| M1 A1
1 2
=(86-16-4x2)—(9-1-4) Use of limits M1
=12-4
Al
=8
So shaded area is 1228 =4.5 Al (6)
(12 marks)




EDEXCEL CORE MATHEMATICS C2 (6664) MOCK PAPER MARK SCHEME

Qn | Specification AO1 AO2 AO3 AO4 AO5 Total
1 1 2 2 4
2 7.1 2 3 5
3 4.4,4.2 1 1 1 2 5
4 5.2 3 3 6
5 3.1 3 4 7
6 2.1,2.2 3 2 1 1 7
7 3.2 4 4 8
8 4.344,45 5 3 2 10
9 6 2 2 4 2 1 11
10 7.2 +C1 5 5 2 12

Totals 30 29 5 5 6 75
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